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NEW QUESTION 1

Refer to the exhibit. Which NETCONF statement type is represented by +--rw address* [ip]?

A. list
B. leaf-list
C. container
D. submodule

Answer: A

NEW QUESTION 2
The automation engineer must replace device configuration using RESTCONF. How is this configured using the Python library Requests?

A. delete()
B. post()
C. put()
D. patch()

Answer: C

NEW QUESTION 3
FILL BLANK
Fill in the blank to complete the statement.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 
Zero touch provisioning (ZTP) 

NEW QUESTION 4
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Refer to the exhibits. An engineer creates a Python scripts using ncclient to display interface information. The code must be completed so that it can be tested.
Which expression completes the highlighted section in the format call?

A. intf_info
B. intf_config
C. intf_get
D. intf_config[0]

Answer: A

NEW QUESTION 5

Refer to the exhibit. What is the correct ncclient method to use to collect the running configuration of a Cisco IOS XE device that uses NETCONF?
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A. config=m.copy_config(source=’running’)
B. config=m.get(source=’running’)
C. config=m.collect_config(source=’running’)
D. config=m.get_config(source=’running’)

Answer: A

NEW QUESTION 6
A network administrator must troubleshoot a network issue using Cisco DNA Center. Which API request helps to determine issue details, impacted hosts, or
suggested actions for the resolution?

A. /dna/intent/v1/issues
B. /dna/intent/api/v1/issues
C. /dna/intent/v1/issue-enrichment-details
D. /dna/api/v1/client-health/issues

Answer: B

NEW QUESTION 7
Which two network assurance features are provided by the Cisco DNA Center API? (Choose two.)

A. site health
B. license compliance health
C. client health
D. Cisco APIC appliance health
E. Cisco DNA Center appliance health

Answer: AC

NEW QUESTION 8
In which direction does the Cisco DNA Center Intent API communicate?

A. westbound
B. eastbound
C. northbound
D. southbound

Answer: C

NEW QUESTION 9
FILL BLANK
Fill in the blank to complete the URL for the Cisco SD-WAN API that retrieves a list of users that are logged into a device.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 
interface? 

NEW QUESTION 10

Refer to the exhibit. A Python script must be created to deactivate vSmart Policy Cisco SD-WAN vManage Configuration APIs. The documentation states the URL
is as shown in the exhibit for this REST call using POST, and that “policyId”
is a required request parameter. Which line of Python code makes this call, assuming the variable “s” is a valid Requests session object and the variable “policy-
id” is the policyId?

A. s.port(‘https://vmanage:8443/dataservice/template/policy/vsmart/activate?policyId=%s’ % policy_id)
B. s.port(‘https://vmanage:8443/dataservice/template/policy/vsmart/activate/%s’ % policy_id)
C. s.port(‘https://vmanage:8443/dataservice/template/policy/vsmart/activate&policyId=%s’ % policy_id)
D. s.port(‘https://vmanage:8443/dataservice/template/policy/vsmart/activate/’, data = {‘policyId’: policy_id})

Answer: A

NEW QUESTION 10
A configuration has been made to add to every switch port a new port description. The script worked initially, but after a few seconds, an HTTP 429 status code
was received. What causes this error message from the Meraki cloud?

A. The wrong API key is used to query the data.
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B. The rate limit of the Cisco Meraki API is exceeded.
C. The API key has expired.
D. The device goes offline while you poll the API dashboard.

Answer: B

NEW QUESTION 15
......
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